



$$\omega = 2\pi f$$

$$Z = (R + \omega \cdot L + \frac{1}{\omega C})$$

$$U = Z \cdot I$$

$$Z = (R + 2\pi f L + \frac{1}{2\pi f C})$$

$$I = \frac{U}{Z}$$

$$(f(x) + g(x))' = f'(x) \cdot g(x) + f(x) \cdot g'(x)$$

$$I = U \cdot \frac{1}{R + 2\pi f L + \frac{1}{2\pi f C}}$$

$$g(f(x)) = g'(f(x)) \cdot f'(x)$$

$$\frac{dI(f)}{df} = -1 \cdot U \cdot \frac{1}{(R + 2\pi f L + \frac{1}{2\pi f C})^2} (2\pi L + 1 \cdot \frac{1}{(2\pi f C)^2} \cdot (2\pi C))$$

$$\frac{dI(f)}{df} = -U \cdot (2\pi L - \frac{2\pi C}{(2\pi f C)^2})$$

$$\frac{dI(f)}{df} = \frac{-U \cdot 2\pi L + U \cdot \frac{2\pi C}{(2\pi f C)^2}}{(R + 2\pi f L + \frac{1}{2\pi f C})^2}$$

$$\frac{dI(f)}{df} = \frac{-U \cdot 2\pi L}{(R + 2\pi f L + \frac{1}{2\pi f C})^2} + \frac{U \cdot \frac{2\pi C}{(2\pi f C)^2}}{(R + 2\pi f L + \frac{1}{2\pi f C})^2}$$

$$0 = \frac{-U \cdot 2\pi L}{(R + 2\pi f L + \frac{1}{2\pi f C})^2} + \frac{U \cdot \frac{2\pi C}{(2\pi f C)^2}}{(R + 2\pi f L + \frac{1}{2\pi f C})^2}$$

$$\frac{U \cdot 2\pi L}{(R + 2\pi f L + \frac{1}{2\pi f C})^2} = \frac{U \cdot \frac{2\pi C}{(2\pi f C)^2}}{(R + 2\pi f L + \frac{1}{2\pi f C})^2} \quad / \cdot (R + 2\pi f L + \frac{1}{2\pi f C})^2$$

$$2\pi L = \frac{2\pi C}{(2\pi f C)^2}$$

$$2\pi L = \frac{2\pi C}{(2\pi f C)^2}$$

$$2\pi L = \frac{2\pi}{4\pi^2 f^2 C}$$

$$2\pi L = \frac{1}{2\pi f^2 C} \cdot C$$

$$2\pi LC = \frac{1}{2\pi f^2}$$

$$2\pi LC \cdot 2\pi f^2 = 1$$

$$4\pi^2 LC f^2 = 1$$

$$f^2 = \frac{1}{4\pi^2 LC}$$

$$f = \sqrt{\frac{1}{4\pi^2 LC}}$$

$$f = \frac{\sqrt{1}}{\sqrt{4\pi^2 LC}}$$

$$f = \frac{1}{2\pi \sqrt{LC}}$$

$$\frac{1}{1+2+\frac{1}{2x}}$$